
A

B

C

D

E

F

1 2 3 6

1 2 3 4 6 7 85

TITLE REV.

A

B

C

D

E

F

7

DWG.NO.

SCALE :

DWG.NO.

SIZE A34 5

DRWN.

CHKD.

APRV.

DRWN.DATE

( )1.5

Mass(kg)
EMC noise Filter

Heavy Duty (kW)
30

2.3

1
1
4

3
7
5

(
)

7
.
5

195

2.3186
4
0
0

280

1
7
.
5

27 ( )27

22.5 ( )22.5

240

1
7
.
5

EZU910805-1/2

J.McAULAY CR700 IP20 TYPE 07/Jan/21

0A.MARDEN

EZU910805
1

DIMENSION DIAGRAM J.COLREAVEY 2

Model No. Max Appli. Motor Terminal Symbol Cooling
Fan

Output Current (A) INPUT OUTPUT(MOTOR) Internal EMC Filter(C3) 
CIPR-CR70 4060    -#     60 R/L1 S/L2 T/L3 U/T1 V/T2 W/T3 2 17

Third Angle Projection
Dimensions in mm  :A to Z

#:A to Z

Scale 1:4

Digital
Operator 4 Mounting Holes

for M6 Screws

Air

Air



A

B

C

D

E

F

1 2 3 6

1 2 3 4 6 7 85

TITLE REV.

A

B

C

D

E

F

7

DWG.NO.

SCALE :

DWG.NO.

SIZE A34 5

DRWN.

CHKD.

APRV.

DRWN.DATECR700 IP20 TYPE

DIMENSION DIAGRAM 

1
5
5
.
8

82 31

9
.
5

40.1

3
1
.
1

1
7
.
2

3
1
.
1

1
0

1
7
.
2

29.8

103.5 10.2

4×P15(= )60

135.3 2×P15(= )30

3
1
.
3

1
4
9
.
2

1
4
9
.
2

1
3
3

1
4
7
.
6

(
T
E
R
M
I
N
A
L
 
B
O
A
R
D
)

2
2
0
.
6

EZU910805-2/2

J.McAULAY 07/Jan/21

0A.MARDEN

EZU910805
2

J.COLREAVEY 2

Main Terminals
with M5 Screws
      :Slot(-)

Main Terminals
with M4 Screws
      :Slot(-)

2×EMC Filter
Switch
(EMC Only)

Base Point of
Terminals Board

Grounding Terminals
with M6 Screws
:Phlillips(+)/Hex head
 (WAF: 10mm) combo

(M
5 

Te
rm

in
al

s)

(G
ro

un
di

ng
 

  
  

Te
rm

in
al

s)

(M
4 

Te
rm

in
al

s)

(M
5 

Te
rm

in
al

s)

Detail (without Front cover)
SCALE 1:2.5


	Sheet 1
	Views
	new_view_1
	右_2
	下_3

	Zones
	A1
	A2
	A3
	A4
	A5
	A6
	A7
	A8
	B1
	B2
	B3
	B4
	B5
	B6
	B7
	B8
	C1
	C2
	C3
	C4
	C5
	C6
	C7
	C8
	D1
	D2
	D3
	D4
	D5
	D6
	D7
	D8
	E1
	E2
	E3
	E4
	E5
	E6
	E7
	E8
	F1
	F2
	F3
	F4
	F5
	F6
	F7
	F8


	Sheet 2
	Views
	new_view_5
	下_11
	下_11

	Zones
	A1
	A2
	A3
	A4
	A5
	A6
	A7
	A8
	B1
	B2
	B3
	B4
	B5
	B6
	B7
	B8
	C1
	C2
	C3
	C4
	C5
	C6
	C7
	C8
	D1
	D2
	D3
	D4
	D5
	D6
	D7
	D8
	E1
	E2
	E3
	E4
	E5
	E6
	E7
	E8
	F1
	F2
	F3
	F4
	F5
	F6
	F7
	F8



